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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A
Question numbers 1 to 10 carry 1 mark each.

The exterior angle of a triangle is equal to the sum of two
(A) Exterior angles (B) Interior angles
(C) Interior opposite angles (D) Alternate angles

In fig. 1 PQ|RS £ZQPR=70° ZROT=20° find the value of x.

Q

P
\(70°
R

o)
Fig. 1

(A) 20° (B) 70°

In fig. 2, the value of x is :

x+15°

o x+5%
T X O Y
Fig.2
(A) 40° (B) 80° (C) 35°
A surface is that which has

(A) length and breadth (B) length only
(C) Dbreadth only (D) length and height

Find x in the fig. 3

60°

Fig.3
(A) 80°
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Which of the following is quadratic polynomial
(A) x+2 (B) x%+2 (@)

The zero of the polynomial p(x)=2x+5 is :

(A (B)

The value of /20 x /5 is
(A) 10 (B)

-1
The value of (125) % is

(A) 25 (B)

135

Simplify : — 7/
implify 13%

(A) 13715 13715 (©

SECTION - B
Question numbers 11 to 18 carry 2 marks each.
On which axes do the given points lie ?

® (04 (i) (=20 (iii) (3, 0) (iv)

Without actually calculating the cubes, find the value of 75— 253 — 503,

q

Express the number 0.53 in the form of _, where q=0.

Simplify : (\/5 + 2)(\/§ — 2)
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Simplify : (32)/5 +(—7)" +(64) 2

In fig. 4, /B <ZA and £C <Z£D show that AD < BC.

D

Find x in fig. 5

940114 - B1




Find x and vy in fig. 7.

A

x—6

SECTION - C

Question numbers 19 to 28 carry 3 marks each.

_V5+\2 2

N
= d y = —=———= find the value of x2+xy +12.
Y 5 -2 yrty

If x=———=an
V5 + 42

OR

T 32 43
Slmphfy.\/E_i_\/§+\/g+\/§ T+ 2

Factorise : (x—y)>+ (y—2)3+ (z—x)3

OR
Factorise by splitting the middle term: :
9(x—2y)? — 4(x—2y) — 13

1
Find the remainder obtained on dividing 2x*—3x3—5x>+x+1 by x— 5

OR
Factorise : 8x2y3—x°

Simplify :  3./45 — /125 + /200 — /50

AD is an altitude of an isosceles triangle ABC in which AB=AC. Show that AD bisects BC.
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24. In fig. 8, show that ABJEF.

PR B
66°

Fig. 8

In fig. 9, PQ is a line segment and O is the mid point of PQ. R and S are on the same side of
PQ such that ZPQS= ZQPR and £POS= ZQOR. Prove that

(i) APOR=AQOS

(i) PR=QS

S

O
Fig. 9

In fig. 10, £B = ZCand AB=AC. Prove that BE=CF.

A

D

Fig. 10

The perimeter of a triangular ground is 900 and its sides are in the ratio 3 : 5 : 4 using Heron’'s
formula, find the area of the ground.
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28. In fig. 11, PQR is an equilateral triangle in the co-ordinates Q and R as (0, 4) and (0, —4).
Find the co-ordinates of the vertex P.

SECTION - D

Question numbers 29 to 34 carry 4 marks each.

€
x2

If x2+— =51, find

i x- ! () x° -

X

L
3

Find the values of m and n so that the polynomial f(x)=x3—6x2+ mx —n is exactly divisible
by (x—1) as well as (x—2)

OR
(a) Find the value of 34 X 36 using suitable identify.

e 186186 X 186 + 14 x 14 x 14
(b)  Simplify using identify : 5o = =0 0 T 14 % 14

Factorise : x8—18

Factorise : 27p3 _ 2132 + lp

216
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The sides AB and AC of AABC are produced to points P and Q respectively. If bisectors of

1
ZPBC and ZQCB intersect at O. Prove that £BOC=90- 5 ZA.

If the bisectors of the vertical angle of a triangle bisects the base of the triangle, then the
triangle is isosceles.

Prove that the sum of the angles of a triangle is 180°.

-00o0-
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Lug - A
U9 WEAT 1 | 10 9k TdF 1 3k HT &

ot f31et =1 ST <hIvT <1 I & A7 & SR BT &1 9 R
(A) TR IOl (B) Ik I
(C) TTEY AN hI0 (D) THNR HI0

ST 3Tfd 1, PQ||RS, ZQPR=70°, ZROT=20°. x I A BT :

p Q

—

TF 7 98 ¢ foreH gl ©
(A) =TS U AeR (B) Had oS
(C) Had IR (D) T IR S
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3TRf 3 H, x 1 7H T Sifed |

(A) x+2 (B)

9gUS p(x)=2x+5 h1 YA T

2
(8 7 (B)

V20 x /5 1 HE BT
(A) (B)

(125)‘% %1 | BT
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wus 'q’
799 G&AT 11 9 18 Ulieh U9 2 Akl T & ¢
e fag fopmt o1efi W &2
G (0, 4) () (=2, 0) (i) (3, 0)

Tt & fomr o1 1 3 753 — 253 — 503 &1 A9 Id FU |

0.53 Wﬁ%mﬁﬁaﬁawwwo.

@ FTN(3 + 2)(V3 - 2)

W FACI (32)/5+(—7)° +(64) 2

AqFpfa 4 H, LB<LATNM LC<«D. A AD < BC.

D

@)

TR~ 4

3T 5 H, x 1 A T Sired |

A
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18. 3TT&{d 6 H, x T4 y 1 T @ Hifsd a0 WS foh AB||CD.

A 700N

’\y

110°\>\
ATHfd-6

SATHIT 7 H, x 791 y K1 HH G HITS |

w|ue ‘g’

U9 HE&AT 19 | 28 Tk UIT 3 3Hhi AT & ¢

\/g el 12 + xy + y2 T HH 1A HISC |

HAYAT

J6 32 43
B s S e i o
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UGS Jd hINE : (x— )3+ (y—2)°+ (z2—x)3

YT

T U &l dIeHh UGS J1d Hife |

9(x—2y)% — 4(x—2y) — 13

EReH x—% Y gUE 214 — 333 —5x2 + x + 1 I faunfoa foran Sman 81 ot I S |

HAYAT

TS 00 hitsd 8x2y —x°

WA IS 3./45 — /125 + 4200 — /50

19yt ABC Tufgarg e € fod AB=AC fag A ¥ AD o/ @i=n T 81 fag &3 f% AD o
BC &1 FHfgHIfsIad &L 21

i 8 #, qwigd fF AB||EF.
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MHTA 9 H, PQ T WS ¢ 3R O 39 geafa< g1 fag R 391 S W@as PQ % T & & < fag
39 YR § fF ZPQS= Z QPR 3R £ POS= ZQOR fag &1

(i) APOR=AQOS

(i) PR=QS

S

O
SThfd-9

3MHfd 10 §, £B= £ C 3R AB=AC fag =3 f% BE=CF.
A

D

B

THfA-10

e faR Be %1 9| 900 § 1 IS Rt S 3:5: 4 % ST{U ¥ & Ol ERIA %1 Y T Fh

Tqah] &% A hirTd |

THfd 11 H, APQR T H9eTg 549 § 9o forg Q 9 R & Froriar whmwm: (0, 4) 31k (0, —4) &1 fag

P & fades q| Sifer |
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g FGIT f(x) = 2% — 6x2+ mx —n FEIE ¥ —1 T x—2 | qoiq: faiera erar € dF m qe x &1 71
A =hifsT |

AT

(a) IUIK FAGHHT T FANT Lk 34 X 36 1 A A hif |

b T S T ne 186 X186 X 186 + 14 X 14 x 14
(b)  HAHMHRT h1 AN hlsh T hll 4 o6 % 186 — 186 X 14 + 14 x 14

THEE HIfd x8—y8
AYAT

T H  oypd _ L 2.2 1
P 7% " 2P p

39S ABC =1 91 AB 9 AC &1 fog P 91 Q T =gl T 81 af¢ £ PBC 921 £ QCB & TG

fog O W fierd €1 7@ fag &= 430(::90—% A.

Ife fret e o R fog A W 99 101 &1 3Tg® 9@ s &l FAfgaIRed &l € 79 fag &
s wefgarg g |

fag =0 3y % =1 o1=a: HIol H1 AT 180° BT 7
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